PHERA eI FET T b

-%g
~=t
et
e
3
W
F'*
¥
=t
(ﬂ
&
“
S
|
\
>
-3
=5

- AT RAR 2 k3 EASBAC
DfcE & 22 32 &+ (o) ~ 34 I K& (u)
fo3 24 (07)2 ~ ] ?

c,=0 Uu,=0 &,=0
oy =2x62.4=124.8

Uy =2x62.4=124.8

5, =124.8-124.8=0

0. =2x62.4+2x115=2354.8

U. =4x62.4=249.6 o. =354.8-249.6 =105.2

Op =2x62.4+2x115+4x118=826.8  u, =8x62.4=499.2

o, =826.8—-499.2=327.6

Op =2x62.44+2x115+4x118+6x130=1606.8  u, =14x62.4=873.6
o, =1606.8—-873.6 =733.2
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&, =2x153+2x19.3+3x19.8-5x9.81=79.55 < &, =160
&, =79.55+120=199.55 > &, =160

C, =0.009x (LL —10) = 0.009x (30 —10) =0.18

C, =0.1xC, =0.1x0.18=0.018

Se=—"L-logZi+ = .| .log—"
l+e, o, l+g, 0,
0.018 160 0.18 199.55
=—————x6xlog + x6xlog
1+0.675 79.55 1+0.675 160
=0.0814 m
=8.14 cm



